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2o 2011 ¢4 2012 4 HAZEME I
=& (ka) S H($) =& (ka) S H($) SE(%) | 3H($)
S 10,014,124 | 12,028,181 | 11,124,076.30 | 13,864,192 11.1 15.3
0= 3,797,960.70 | 3,186,955 | 3,824,622.10 | 3,541,456 0.7 1.1
21 Al Ot 2,250,695.90 | 2,056,996 | 2,796,251.60 | 2,737,321 24.2 33.1
5= 575,424.60 | 1,527,907 630,159.30 | 1,342,131 9.5 -12.2
SF 535,196.80 543,403 656,959.80 720,510 22.8 32.6
IS AE 151,681.50 417,418 143,062.80 666,745 -5.7 59.7
Zelg 352,554.20 859,258 314,587.90 567,301 -10.8 -34
HE S 58,127.30 263,374 73,236.30 422,195 26 60.3
JHLCH 271,882.60 231,344 373,582.10 345,642 37.4 49.4
AFLClOtetdl ot 358,974.20 377,096 331,418.70 345,035 =7.7 -8.5
FEUHE 229,486 218,046 270,863.70 267,965 18 22.9
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< BEo =ohg 4y 44X >
9l kg, 22
2011 2012 01 2HE 1 Ch
=20t
E2ko) | 2AUEG) | Bk | BAUP | B%) | 2A@9)
=3 4,117,334 | 6,124,187 | 4,586,760 | 6,450,248 1.4 5.3
o= 1,467,262 | 3,601,702 | 1,431,627 | 83,453,304 2.4 ~4.1
== 870,795 | 1,056,763 | 964,183 | 1,180,182 10.7 11.7
cHet 1,048,663 | 767,095 | 1,622,371 | 1,061,447 29.9 38.4
0I= 393,667 | 497,441 | 372,986| 421,251 52| -153
01 & I Al O 43047 73379  49,020| 96,339 13.9 31.3
=z 9.075| 21,160  35638| 79,764 | 2927 277
EH= 37.713| 60,370 | 39,807 | 79,714 5.6 32
me|m 27,214  26927| 40,802 | 40,685 49.9 51.1
HiE 19,801 17,192 30,241 36,908 52.7 114.7
NRIEE 26 109 9 189  -65.4 73.4
E: KATI (2013. 2. 18)
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